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BOTANY — GENERAL
Paper : SEC-A-1

(Plant Breeding and Biometry)
Full Marks : 80

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]
The figures in the margin indicate full marks.

1. Answer any fen questions : 2x10

(a) What do you mean by Transgenic Plant?
(b) What is somaclonal variation?

(c) In a statistics measurement of 60 plants have been taken. How do you determine the median?
(d) What are the qualitative variable characteristics?

(e) Write two importances of Biometry.

(f) What is amphidiploid?

(g) Give one example of inter-varietal hybridization.

(h) What is Null hypothesis?

(i) What do you mean by clone?

() What do you mean by population and sample?

(k) What do you mean by inbreeding depression?

(I) What do you mean by standard error?

(m) What is Golden Rice?

(n) What is distant hybridization?

2. Write short notes on (any Jour) : 5%4
(a) Difference between mass and pureline selection.,

(b) Different measures of central tendency.
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(c) Mutation Breeding : Advantages and disadvantages.

(d)
(e)

Importance of plant breeding.

Role of recombinant DNA technology in crop improvement.

. Answer any four questions :

(a)

(b)

(c)
(d)

(e)

What is polyploidy? Write the role of polyploidy in production of new variety. How it is useful for
improvement of wheat? 2

What is mode? What do you mean by good fit? Discuss chi-square test to calculate goodness of fit
with the help of an example. s

Describe the process of hybridization in plant breeding. 10

What is Mutation? Write the role of plant tissue culture in crop improvement with few examples.
2+8

Here is the number of brinjals plant in a garden : 15, 16, 17, 11, 12, 17, 16, 16, 17, 19, 12, 13, 14,
16, 17, 18, 16, 17, 20, 22, 21, 18, 17, 19, 14, 16, 17, 17, 19. Find the mean, standard deviation and
standard error. SH3+2



